
Case study

A merger occurs when two businesses agree to join together. There are advantages to be gained for businesses when they join together in this way. For example, where offices exist in the same city, the business may be able to close down one to save costs. 
In 2008 the bank HBOS merged with rival Lloyds TSB. The merger between two major businesses created a retail giant worth £30 billion. This merger was controversial because of the size of the two banks. HBOS already had a market share of 20% of mortgages in the UK. Lloyds TSB had a market share of 8%. This meant that the new business would have a combined market share of 28%. This was above the maximum market share of 25% which is allowed by the government.

As HBOS and Lloyds TSB often have branches on the same street across the UK, the fear of many customers and workers was that many branches would have to close. It was suggested that as many as 1,000 branches would close, with total job losses up to 40,000.

The government controls the growth of businesses to ensure that they do not become too big. Where a business has a market share of 25%, it is said to be a monopoly. Such large businesses reduce competition. They can charge higher prices, which is a worry for consumers. Monopolies can also provide a poorer service or product than a business which faces lots of competition. The government organisation responsible for investigating instances of the possible abuse of monopoly power is called the Competition Commission.

The government agreed to the merger even though the new combined business had a market share above the 25% limit. The reason for this was that the banking sector was suffering and the merger was the best way to ensure the survival of such important businesses.

Source: adapted from: http://www.timesonline.co.uk
Suggested discussion points/answers

1.
What is a monopoly?

· A monopoly in a pure sense is where just _____ seller exists
· The government defines a monopoly as a business which has a market share of greater than ____%.
2.
Why did HBOS and Lloyds TSB want to join together in a merger?
· To take advantage of ___________ of __________
· HBOS was facing financial difficulties and needed a strong partner
· To increase ____________ power

3.
Explain two possible benefits for consumers when lots of competition exists in a market
· Lower __________
· Innovation
· Improved ____________ service
· Special offers and deals

4.
Discuss (a) one possible effect of the merger of HBOS and Lloyds TSB on customers and (b) one possible effect on shareholders
a. Customers
· More ____________ 
· Lack of competition leading to higher prices/worse ____________ rates
· Poorer customer service due to the business facing less _____________
b. Shareholders
· For HBOS shareholders the merger was a positive move as HBOS was threatened with ___________ 
· As the combined business will be larger than the two separate businesses, there will be the likelihood of economies of scale. This could lead to improved___________, which for shareholders may mean higher _____________
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